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(AN Hlnv]
9ox3Udl > [aseu, aniEl, [@QAH], gt uyg, vidl ooul, usdl,
Reouis:-1, sica-2, uis:-3
English » MCQ, Glossary, Synonym, Opposites ,Do as directed,

Unit:1 Grammar :1, 2 True/False, Matching.
REA [Qseu, uui-nelvudl oroa YL, 1ivdL Yoxol sU
qT3-R, 3 &~ ¢ VisAlAHIsAGIEL
Maths - Ch :-1 MCQ;Fill in the blank, Sum.

Science - Ch :-1,2 MCAQ, Fill the blank, True or False, matching, Define.
ALeys [ -ws : 4,2, MCQ, el 2NV, URL vIR2D, ao{ls2m, exigs vzl
Ao uRBSIH I ARl
g - I Femarfa g, R [Qseu,oidr , (AR ,uui-E] widlooal, Hiva Yeyol 53, WL vi2l,
IRET

WUALRS YA — 2023 / 1Y F.A.-2 (AUeA145H)
(A YIUSH
yspudl Yls:-U, sled:-y
Rl WS-, sled:-¥

English Unit:-2, 3, Grammar:-3
Maths Ch-2,3

Science Ch-3,4

AMUSys (st Yls:-¢z ,U
AR S, WS- 3, U
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Y RiQ. v ellgRlL (RglAgr) wal

UYALRS HAis1—20F / AU F.A-3(AUGARSH 2 URAUA HIOY)

(AN

Hlvy

9ox3Udl
5191-49,93, UIS-12

>

[Aseu, ur-didr (2is asani), vicleoul, auil,
(A1t noe, Aosuug, oxidst, oAkpll

(g€l
-4,

>

([Aseu, vis AL UL, vElonoul, WRL S w2l
ALl QL wot, Asesia, sl

English
Unit:-1, Grammar:-1,2

Matching, M.C.Q., Glossary, True or False,
Synonyms,Opposite, Do as directed

Maths Ch- 8,9

MCQ, Fill in the blanks, Sum.

Science
Ch-7,8

MCQ, Fill the blank, True or False,

Answer in one Sentence.

AMLeys (s
Y1s:-u,4.9

[Qseu, dslad, viRi vz, viizi aee uR 951 HIKL Q8L A1) ot-udl.
U v, vidlenodl, orlisl, vdldrusigaciisel, sioldimavil

Agd
sle4-9, us:- R

oxl3sl, vl 5 vzl
[Qseu, QAL Yoot 520, [AAH] ,uH1-uel, AR 9181/ o8

UALRS HAis4— 2027 / QUF.A.- 4 (AUGULASH)

([Ana

R LASH

aoxUdl

Yis:-qY, sle4i-as, Al U-1

(s-€l

51%1- 3,4 WS- ¥

English

Unit:-2, 3, Grammar:-3

Maths

Ch:- 10,11

Science

Ch:-9,10

AHLlsys [Qsuq

Ulsi- 9, 12,1<¢

URd
sle-y, WS- 3, U

sleq-v, Ule- 3, U
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Y RiQ. v ellgRlL (RglAgr) wal

UAH AU HRAs S.A.-1 20Y /U

+ ARARUSH AN A AL

[Qua:- oyoraudl 54 9|0~
Wi-1. (1) 2uual [Aseul Higl 20 [Asey wrie sl dauavl. 5
(1) AMAAR G Qvil. (AN d As) 4
(5) SIS Bl wia Uaedledl oLl AR sl G @vil. 10
Wi-2. (1) HERAR GR vl 3
(61) vl oxouL Y3l 4
ORI
(3) URAl-AL A5 6 AAHL GR vl 5
1. A s old B AA SlA s8 O d avil. 2
IO ETRITEN 2
- <Al sl iRl €l Al Y x4 vzl €l AL X L [l 1. 2
. AULSAAL USIR QUi 2
. AL AESRAL USIR AVl il 2
- AHIRAAL [Ag 52 UsIR @il 3
. 2@ 8921 udl. 2
W4, YAl Yorol 53,
1. uHLf ot @il 4
2. (A woe @vil. 2
3. 3nAtdL 214 @uil. 3
4. A0T UHE HI2 W AL Qvil, 2
5. Aoe51L $HUL 20€ ollsAl. 3
-5, () 1A 2ulal [QNd U v8AQdWA . 5
(61) 2L 51l UAY Avid $3, 3
(5) Alaamiel s o 2is ([Qua ur 20 9l 2u Al [Qola qvil. 8
Sub:-Maths Total marks:- 80

Q:-1. (A) Counting and fill in the Blanks. 10
(B) Answer the following Question in brief. 5
(C) Write True or False 5
Q:-2. (A) Solve the following Sums. (Any Seven) 14
(B) M.C.Q. 6
Q:-3. (A) Solve the following. (Any Five) 15
(B) Match the following. 5
Q:-4. (A) Solve the following. (Any Four) 16
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Y RiQ. v ellgRlL (RglAgr) wal

(B) Draw a circle graph.

[Qua:- Auleys Qi saoR:- 80
W-1. () 2uual [Aseuinizl 210 [Asey yrie 530 A avil, 5
(61) Al scudL uHmdl. (QH A AR) 6
(5) AWOA 51201 2L (O d 8L 6
Ui-2. (1) AlAAL URAlAL 25 - 6] QAU Syl Quil,
(61) vl ool YRl 6
(5) g5l @il (A d &) 8
-3, (1) AlAAL Qs 0 (V) 3 (X) Al Qandl sl 5
(61) “llA-l ureliell AR 2l AR WAL syaleL Quil. (A d €9)
(5) He 2l 5
We-d. () 1Al Urdlq uix 2l 9 qusaul sy, dauil, (M d el
(1) oxLesi oAl 5

C

(5) <l [@Qoudl asauml aial. 5

Sub:- Science Total marks:- 80

Q:-1. (A) Choose the Correct Option and write sign.
(B) Write difference. (Any two)
(C) Fill in the blanks.
(D) Draw diagram and name it.
Q:-2. (A) Answer the question in 2-3 sentences. (Any four)
(B) Answer the question in one word.
(C) Give scientific reason. (Any three)
(D) Define the following.
Q:-3. (A) Answer the question in one sentences.
(B) Answer the question.(Any four)
(C) Classify the following.
Q:-4. (A) Answer in detail.
(B) Match the following.
(C) Identify me.
(D) Write true or false.
(E) Write the Experiment with diagram.

mwwhmwsmmmboowmboo

[Qna:- (g€l s& opuL-

(31) et & & gt e g @97 il

() e T FT iR FfT

() F=r st f=TET

() et e F g V' 8l o @ F g X F Ree e )
-2, (o) et aierest 3 SO 9 & o a7 i

()t T ST T arRT | o

(F)Freer forfer

(0]
o
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Q. V1Ll (RgAgR) wal

(F)arrr F Far Fga g il
=T e iR
9. ety forfem |
R. g erex forferm
3.t ars feferT
¥ JgTax & o forfere
y. sreaaHg i
%. 9TST UX § JT9T TR
9. FTUTRE T FIT
W:-4. =T AgETe ey
(2) ¢ . ATIATIS AT AR |
R. aTFH F AT qgATHF TR TATRC |
3. 979 & TR TAT5C |
¥, 9T5% i AT F7F H iR |
(R) TEE FT ATTATITH ATATE HITSrT
-5, (37) TUETSH AT I Fgr+T Foras St sfids, e frfem |
() et o R a0 ¥ Y Ity ¥ fAey e

Sub:-English Total Marks:-80
[14]
[A]lChoose the correct option and write their number.
[B]Write a short note. [any one]
[C]Match ‘A’ with ‘B’.

[A] Read the following passages and answer the following questions.
[B] Who said the sentences.
[C] Write whether the following sentences are True or False.

Q-3
[A] Complete the sentences with the use of clues given in the brackets.
[B] Write the nearest meaning of the word.
[C] Write the opposite words.
[D] Write the comparative and superlative form of the word.
[E] Complete the dialogueusing the expressions given in the brackets.

Q-4 Do as directed.
1. Fill in the blanks using the proper form of the word given in the bracket.
Frame questions to get underlined words as an answer.
Change the degree.
Write the past participle forms.
Turn the sentences into simple past tense.
Write the answer of the questions using the word given in the brackets.
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Q. V1Ll (RgAgR) wal

[A] Read the following extract and answer the questions.
[B] Read the data and answer the questions.

[C] Describe the picture in about 10 sentences.

[D] Write an essay on any one subject in 15 to 17 sentences.

[Qua:- 2424d

W-1. 2uual [Aseuinial Ao [Asey urie sl duavil. 10
-2, (V1) UL URelledl GuR AgdMI @vil, 4

(61) vl ool YRl 4

(5) SUUQ AHA ARgd AoeHi Quil.

(1) GELERBL HoYoL AUt G-l 2

(61) AA W (V) 85 g (X) 4 syRudl.

(5) AL HoroL Qv

(5B, v, oeld, (QRIH], uHeEl, AR VIS, vilal U6t YR X 53U.)
-4, (V1) olErvigl ooRLdlui vidale Qvil, 3

(61) 24lls wld dvil. 2
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Sub:-Maths Total marks:- 80
Q:-1. (A) M.C.Q. 6
(B) Counting and fill in the Blanks. 10
(C) Answer the following Question. 4
Q:-2. (A) Solve the Sums as given. 16
(B) Write true or false. 4
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Q:-3. (A) Solve the following.(Any five)
(B) Match the following.

Q:-4. (A) Solve the following.
(B) Fill in the blanks.

[Ana:- uuleys [Qaun
(1) el [Qseuinizl dloy [Aseu urie stliau avil.
(61) <llA-dl iseudl aumdl. EH d 28
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(1) ARl UrAlAL 25 - 6L ASAHL SxAUsL Qi
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(5 ) He 20wl
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(1) oxLesi oAl
(5) Al [Q01dl 4szuni saldl.
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1
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5
5

Sub:- Science Total marks:- 80

Q:-1. (A) MCQ

(B) Answer the question in 2-3 sentences. (Any four)

(C) Match the following.

(D) Give scientific reason. (Any three)
Q:-2. ( A) Define the following. (Any two)

(B) Answer the question in one sentences.

(C) Classify the following.

(D) Answer the question in one word.

(E) Draw diagram and name it.
Q:-3. (A) Answer the question as given.

(B) Write difference.

(C) Answer in details. (Any one)

(D) Write true or false.

(A) Identify me.

(B) Write the Experiment with diagram.

(C) Fill in the blanks.

A B BDBOCOWOUIWOI O Ol 0O

o1 o1

(Qna:- (<€l 54 oL- 80
w-1. () fRw e et # & w3t fawer gaa @97 forfemg 7
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() R T &t g e |
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(=1 g 1T sy 9= g o |

(@) et ws R 7= R0 F Yt | ey forfm

Sub:-English Total Marks:- 80

(A) Answer the questions selecting the most appropriate option.
(B) Who said the sentences.
(C)Write True or False.
(D) Write a short note. [Any One]
(A) Match ‘A’ with ‘B’.
(B) Read the passages and answer the question.
(O)Fill in the blanks using the proper form of the word given in the bracket.
(A)Write the nearest meaning of the words.
(B)Write the opposite words.
(C) Write the comparative form of the words.
(D)Write the past tense form.
(E)Read the data and answer the following questions.
. Do as directed.
1.Complete the dialogue using the expression given in the bracket.
2. Complete the following sentences using a proper question tag.
3. Make meaningful sentences with help of the given words.
4. Use of conjunction and make sentences using the words given in the brackets.
5. Frame the question using ‘How many’ or ‘How much’.
6. Make exclamatory sentences.
(A) Read the following extract and answer the questions.
(B) E-mail Writing.
(C) Write an essay on any one subject in 15 to 17 sentences.
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